
21.1.21 

Subtracting 9 and 11 

Just like addition last week, both of these numbers can be 

subtracted using the number 10 to help us. 

When subtracting 9, you can subtract 10 then add 1 back on. Here is 

an example. 

        12 – 9 = 3  

 

 

Have a go at the questions below. Use the box to write out 

how you worked it out. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

12 – 10 = 2 

2 + 1 = 3 

 

24 – 9 = _________ 
 

 

36 – 9 = _________ 
 

 

42 – 9 = _________ 
 

 

73 – 9 = _________ 
 

 

21 – 9 = _________ 

 



When subtracting 11, you subtract 10 then take away another 1. 

Here is an example 

 

 

 

 

Have a go at the questions below. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

24 – 11 = __13___ 
24 – 10 = 14 

14 – 1 = 13 

 

27 – 11 = _________ 
 

 

32 – 11 = _________ 
 

 

36 – 11 = _________ 
 

 

41 – 11 = _________ 
 

 

54 – 11 = _________ 
 


